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' Instructions to the candidate:

e Thercare 5 Questions,

3 o All Questions are Compulsory.
e You should dowenload the question-an

d-answer hooklet, take its print-out, attempt the questions and then scan the

‘ same using varions mobile apps like Cam Scanner ete. on your mobile, Convert the file using these apps to PDF
| ond kploda.

You wil he ahe to upload the file from where you had downloaded the question-and-answer booklet.
o Inoase wou face any difculties, you can write o us at sleepy.classes@gmail.com.
o Thox candudates who are not writing on the printed booklet are to leave margins on their answer sheet for

Sommenis,
o The ghone-said candidates are fo then make their own evaluation sheet in the format stated below to be uploaded

with the ansier,
o Compulsory o mame vour PDF file in the following format (Student Complete Name_Test Number) e.g.: (Kriti
Rathor_Mans Test-d)

Coammenss for the nerpose of coaluation of Answer Writing:

Relevance to the question

Structure of Answer

Content

Presentation (Neatness,
charts, diagrams as
required)




Answer Question In NOT MORE THAN the Word Limlt tor each In the Parenthesls.
(Specimen Answer Booklet - For Practice Purpose Only)
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(Specimen Antwer Booklet - For Mactice Puipore Only)

Answer Question In NOT MORE THAN the Waord Limit fuc sach In the Parenihesis,
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Answer Question in NOT MORE THAN the Waird Limit for each In the Parenthash.
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Answer Question in NOT MORE THAN the Word Umlt for each in the Parenthesis.
(Specimen Answer Booklet - For Practice Purpose Only)
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Antwor Questian tn NOT MORE THAN the Wasrd Limit for each I the Parenthesls.
(Specimen Antwer Booklet - For Provtive Furpome Only)
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Answer Question in NOT MORE THAN the Word Limlt for each In the Parenthesls.
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